GENERAL NOTES:

. STORM PANEL SHOWN ON THIS PRODUCT EVALUATION DOCUMENT (P.ED.) HAS BEEN VERIFIED FOR COMPLIANCE IN ACCORDANCE

WITH THE 2010 EDITION OF THE FLORIDA BUILDING CODE. B) 710 /{X/§NN7§ C%NC»‘:E%‘H%C;CZAWZI;L:C ?gf% CB—YQ(;TW BULDEX
THIS STORM PANEL SYSTEM SHALL NOQT BE INSTALLED AT HIGH VELOCITY HURRICANE ZONES (MIAMI—DADE / BROWARD COUNTY). ~1/4" & TAPCON AN NUFA LW, . ,
' ( / ) ~1/4" 8 X 7/8" CALK—IN ANCHORS OR ELCO MALE & FEMALE "PANELMATE” MANUFACTURED BY POWER FASTENERS, INC.

DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1609 OF THE ABOVE MENTIONED CODE, AND ELCO CONSTRUCTION PRODUCTS, RESPECTIVELY.
FOR A WIND SPEED AS REQUIRED BY THE JURISDICTION WHERE THESE SHUTTERS WILL BE INSTALLED AND —1/4" @ X 3/4” ALL POINTS SOLID-SET ANCHORS AS DISTRIBUTED BY ALL POINTS SCREW, BOLT & SPECIALTY COMPANY.
FOR A DIRECTIONALITY FACTOR Kd=0.85. USING ASCE 7-10 FOR INSTALLATIONS UNDER 2010 FBC AND SHALL
NOT EXCEED THE MAXIMUM (A.S.D.) DESIGN PRESSURE RATINGS INDICATED ON SHEETS 4 & 5. NOTES: R
IN ORDER TO VERIFY THE ABOVE CONDITION, ULTIMATE DESIGN WIND LOADS DETERMINED PER ASCE 7—10 B.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS AND ELCO PANELMATES INTO THE CONCRETE BLOCK UNIT SHALL BE
SHALL BE FIRST REDUCED TO A.S.D. DESIGN WIND LOADS BY MULTIPLYING THEM BY 0.6 IN ORDER TO 1 . N

) B.2) 7/8" CALK—IN ANCHORS AND 3/4" SOLID SET ANCHORS SHALL BE ENTERILY EMBEDDED INTO THE CONCRETE BLOCK
7O COMPARE THESE W/ MAX. (AS.D) DESIGN PRESSURE RATINGS INDICATED ON SHEETS 4 & 5. INIT. WO EMBEDMENT INTO STUCCO SHALL BE PERMITTED.
STORM PANEL'S ADEQUACY FOR IMPACT AND WIND RESISTANCE HAS BEEN VERIFIED IN ACCORDANCE WITH SECTION 1608.1.2 OF 1/4" 8-20 SCREWS USED SHALL BE 1 1/2" LONG MINIMUM SHOULD STLCCO EXIST,
THE ABOVE MENTIONED CODE AS PER ATL REPORT #0130.01-01 AND #0703.01—07, PER SSTD 12-99 & ASTM E 330-02, AND 1% MINIMUM FOR WALLS WITH NO STUCCO.

STANDARD B.3) IN CASE THAT PRECAST STONE OR PRECAST CONCRETE PANELS BE FOUND ON THE

EXISTING WALL, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE
.- CLEAR BERTHA STORM PANEL SHALL BE EXTRUDED USING ANY OF THE FOLLOWING POLYCARBONATE SOURCES WITH THEIR

BEHIND SUCH PANELS. ANCHORAGE SHALL BE AS INDICATED ON NOTES IN -B.1) & B.2) ABOVE,
CORRESPONDING MODEL NUMBER: s
(C) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF THE ANCHOR'S
GENERAL ELECTRIC PLASTICS LEXAN 103 MANUFACTURER.
DOWN CHEMICAL CALIBRE 302 V-8 7. PANEL MAY ALSO BE INSTALLED HORIZONTALLY FOLLOWING INSTALLATION DETAILS SHOWN ON SECTIONS 1 THRU 5, SHEET 3

BAYER MATERIAL / SCIENCE LLC. MAKROLON #1804 OF 5.

8. STORM PANEL SHALL BE REMOVED AFTER THE HURRICANE AND SHALL BE STORED AND PROPERLY MAINTAINED.

MINIMUM PROPERTIES FOR ALL OF THE ABOVE POLYCARBONATES ARE AS FOLLOWS: 9. IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE STRUCTURE -WHERE SHUTTER IS TO

TYPICAL PROPERTIES APPLICABLE STANDARD REFERENCE RESULT BE ATTACHED TO INSURE PROPER ANCHORAGE.

AL 10. SHUTTER MANUFACTURER'S LABEL SHALL BE LOCATED ON A READILY VISIBLE LOCATION AT STORM PANEL SHUTTER IN
SPECIFIC GRAVITY ASTM D792 1.20 6/CC ACCORDANCE WITH SECTION 1715.8.3 OF FLORIDA BUILDING CODE. ONE LABEL SHALL BE PLACED FOR EVERY OPENING.
MECHANICAL: LABELING TO COMPLY WITH SECTION 1715.8.2 OF THE FLORIDA BUILDING CODE.

TENSILE YiELD “STRENGTH ASTid DB38 8,700 p.s.i. 11. THE INSTALLATION CONTRACTOR IS TO SEAL/CAULK ALL SHUTTER- COMPONENT EDGES WHICH REMAIN IN CONTINUOUS CONTACT
FLEXURAL STRENGTH AT YIELD ASTM -D790 12,500 p.s.i WITH THE BUILDING. TO PREVENT WIND/RAIN INTRUSION. CAULK AND SEAL SHUTTER TRACKS ALL ARQUND FULL LENGTH,
FLEXURAL MODULUS ASTM D790 340,000 p.s.i. 12. STORM PANEL INSTALLATION SHALL COMPLY WITH SPECS INDICATED IN THIS DRAWING PLUS ANY BUILDING AND ZONING
IMPACT: REGUIATIONS PROVIDED -BY THE JURISDICHON WHERE PERMIT IS APPLIED TO.
NOTCHED 420D ASTM D256 18 FT~Ib/in 13, (A) THIS P.ED. PREPARED BY THIS ENGINEER IS GENERIC ANG DOES NOT PROVIDE INFORMATION FOR A SITE SPECIFIC
FIRE BURNING CHARACTERISTICS: PROJECT: L.E. WHERE THE SITE CONDITIONS DEVIATE FROM THE P.E.D.
SMOKE DENSITY ASTM D2845 75 (MAX) (B) CONTRACTOR T0 BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION INCLUDING LIFE SAFETY OF THIS
RATE OF BURNING ASTM D635 C-1 CLASS (MAX) PRODUCT, BASED ON THIS P.ED. PROVIDED HE/SHE DOES NOT DEVIATE FROM THE CONDITIONS DETAILED ON THIS

CONS S : LITY,
SELF IGNITION ASTH D1629 550 F DOCUMENT, CONSTRUCTION SAFETY AT SITE IS THE CONTRACTOR'S RESPONSIBILITY.

(C) THIS P.ED. WILL BE CONSIDERED INVALID iF ALTERED BY ANY MEANS.

— (D) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED ENGINEER OR ARCHITECT WHICH WILL BECOME
AL ACUMINM EXTRUSIONS SHALL BE ALUMINUM ASSOCIATION 6063~T6 ALLOY & TEMPER. THE ENGINEER OF RECORD (E.O.R.) FOR THE PROJECT AND WHO WILL BE RESPONSIBLE FOR THE PROPER USE OF THE
. ALL SCREWS TO BE STAINLESS STEEL 304 OR 316 AlS) SERIES OR CORROSION RESISTANT COATED CARBON STEEL AS PER DIN P ‘%%RE ;"GIN?;} i‘;éfﬁ?%ﬁ%gg ?gRARglt;ILEEVfATED ENGINEER O THE P:E:D. ENGINEER, SHALL SUBMIT 0 THIS
50018 W/ 50 KSi YIELD STRENGTH AND 90 KSI TENSILE STRENGTH & SHALL COMPLY W/ FLORIDA BUILDING CODE LATIER THE :

SECTION 2411.3.3.4. (E) THIS P.ED. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE PROFESSIONAL ENGINEER OF RECORD
. BOLTS TO BE ASIM A 307, GALVANIZED OR AIS) 304 SERIES STAINLESS STEEL, WITH 36 KS! MIN. YIELD STRENGTH. THAT PREPARED IT.
. ANCHORS 70 WALL SHALL BE AS FOLLOWS: SEE SHEET 2 OF 5 FOR APPLICATIONS.

(4) TO EX/STING POURED CONCRETE: MIN. F'C = 3 KSI
~1/4" @ TAPCON ANCHORS MANUFACTURED BY IT.W. BUILDEX

~1/4" 8 X 7/8" CALK—IN ANCHORS OR ELCO MALE & FEMALE "PANELMATE" MANUFACTURED BY POWERS FASTENERS, INC
AND ELCO CONSTRUCTION PRODUCTS RESPECTIVELY.

~1/4" @ X 3/4" ALL POINTS SOLID—SET ANCHORS AS DISTRIBUTED BY ALL POINTS SCREW, BOLT & SPECIALTY COMPANY.

j9809950500,,
Laf % &e@‘p . » . .
NOTES: D ' se“i:/{\@:‘ A. ﬂ{?z;”} = FLORIDA BUILDING CODE ( Non High Velocity Hurricane Zone),
N [/ M. F NG » " geaoteTeag, e T A~ e e
A1) MINIMUM EMB ENT INTO POURED CONCRETE OF TAPCON ANCHORS IS 1 3/4” AND FOR ELCO PANELMATES IS 1 3/4 N V‘?‘ T \GEN ... "’:ﬁ =] o2011 TRIECO, B CLEAR BER?—HA STORM PAA}EL DRAM{I/V gy
- o » RESAL.
A2) 7/8" CALK—~IN ANCHORS AND 3/’4” SOLID SET ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE POURED CONCRETE. < A % (225 DEEP) £

060"

NO EMBEDMENT INTO STUCCO SHALL BE PERMITTED.

&

5
y -
7/4" 9-20 SCREWS USED SHALL BE 1 1/2" LONG MINIMUM SHOULD STUCCO EXIST, AND 1" MINIMUM FOR WALLS S
WITH NO STUCCO. I K
-

A.3) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, OR PAVERS BE FOUND ON THE EXISTING WALL OR FLOOR,

V 12/05/11
A §/ ||L|E C O ine. \ EASTERN METAL SUPPLY, INC baTE

4268 WEST ROADS DRNE

@ f
§

. STATE OF Q=) JILLIT TESTING & ENGINEERING COMPANY WEST PALM BEACH, FL 33407 11=220
ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS, ANCHORAGE SHALL BE AS % A, ps é‘?’ QRIS 6 St Sld05, VRGN GIRDENS, FL 13166 DRAWINE No
INDICATED ON NOTES A.1) & A.2) ABOVE. Y 0}(\@° iaﬁggv\.c\@ & Ega_o%?fl?g s ﬂ:v.’m mnﬁvf ,;;5” m:m DESCRIPTION BATE
= TR e teeeieeest” WALTER A . P.E -
= 80, D FrORiDA Lic. § 44167 7 3 SHEET 1 OF 5

TONAT®
et g059050900



- 15.120" - 9. 120" } Mg”T——~CONCRE7E ANCHORS (SEE SCHEDULE)———-]-{;G:‘l
%, X,
12.000 n 6.000" 1 Min. 1 Min,
i —i r 6.00 l ) ° ° ) °
1.500" 4.500" 1.500"~; 4.500" 1.500" 1.500" 4.500" 1.500" T e e T e
l- (8) AS APPLICABLE (Typ.) !' l (8) AS APPLICABLE (Typ.)
¥ L]
5 2% ; : ¥
] ;8 1 v v
& N
\_o.roo" + 10% TOLERANCE l

N0+ 10x TOLEWNCEJ w_,_,_,(:D—QET"”W -

3.875" |

27.120"
j 24,000"

1.500" 4.500" 1.500 "~ 4.500" 1.500" 2.500" 1.500" 4.500" 1.500" ‘
F B) AS APPLICABLE {Tys.) " I N JH Sy N S N _._..g.. JENER S S A S mm@___ i S S N S @ I
b 3* . CONCRETE ANCHORS (SEE SCHEDGLE) ' __.-%uiw
) ruﬁﬁ. .
! STORM PA TYPICAL ELEVATION
N.T.5.

0.100" £ 10% TOLERANCEJ
N

5:875" L2125 N e e /47 Mox. GAP—
: - ~ R

< <

3

2.250"—

L 520

—2125" l 3.875"

N.T.S,
214" 4
] w
P} &
. 8% q\@m .
g1 3 | A TN T
- - — 3 474 §, 8§ ) ]
1150” L- 3 aE 7 i ‘%T%' - . },{mgosroﬁaﬁg e .
s ".[ =N N T s @ 12"0 ¢ A
T f QI enon R
3 ZA% R
200 T
083"
- 3.000" Mox, —384" =
” | |_.083"
@ 3" ANGLE BUILD OUT

532" DE TA[Z {2 swp wy DiE easT ZING

NICKEL PLATED WING NUT

125" _ 625"

4" 8 S. & ST

990"——-1

] BP5” L
0
mé_._l

‘ §ead™ . SCALE: 3/8" = T) oripa BUILDING CODE ( Non High Velocity Hurricane Zone)
P e R 3 ©2011 TLTECO, INC. CLEAR BERTHA STORM PANEL o o |
[ = 3 (2.25" DEEP) RE/AS.

| ?Mag?) _!T § ~ _ 12/05/11
@ 9 " ‘5‘/ hLlEc o INC. \ EASTERN METAL SUPPLY, INC DATE

4268 WEST ROADS DRIVE

2 x5 (MAX.Jx1/5” (9 KE WA
ANGLE STUD

31051154 Alum, ALLOY TILLIT TESTING & EMNGINEERING COMPANY

ST ) 407 -
B8355N.W, 36th, 323 Ste.305, VlelNIA aAggENS. P 33166 . WEST PALM BEACH, FL 33 11 /22'?
Phane : (305, 572';?30%65;;9. (305)871-1531 Ty DESCRPTEN TR 7 ToN TATE DRAWING No
WALTER A. TILLIT Jr. PE. 1 op-os-147  |1a/es/iil 3
FLORIDA Lic. f 44167 z " SHEET 2 OF 5




ITW/BUILDEX TAPCONS,
POWERS FASTENING CALK=INS
OR ELCO TEXTRON PANELMATE
(SEE SCHEDULE FOR SPADING).

FPOURED

7/8" x 3/32" WING
12" 0. . STABGERED

CONCRETE £ D
REQUIRED\
1" Min.

s SEPARATION |
7O EXISTING™ |

6LASS .

® _NUT @ EVERY STUD @
,[ " 7O ANCHORS

—O.0

PANEL

/420 x 1"
5 5 M S W

WING NUT

\&L

7/8" x 3/327\

—O.0

@ 12" o.c
PO[JRED\
concreTe B \D
OR CONCRETE
BLOCK WALL
REQUIRED —
CALK~INS

(SEE SCHEDULE FOR SPACING)

N

“ Cont.

_ITW/BUILDEX TAPOONS OR
POWERS FASTENING CALK~INS
(SEE SCHEDULE FOR™SPACING).

it
—\l

e

Cont( 5

1/4"8-20 x 1" S. S, M. 5. W/

7/8" x 3/33" WING

NUT @ 12" v.c.

1" MINIMUM

| SEPARATION TO

EXISTING GLASS

POURED CONCRETE

REQUIRED

—0.06

PANEL LENGTH
(SEE SCHEDULE)

LEG LOCA TION]

1/4"%-20 x 1"
S 8 M5 W
7/8" % 3/32"
WING NUT

® 12° o.c.

ALTERNATE

POURED CONCRETE
REQUIRED

ITW/BUILDEX TAPCONS OR

/E/

POWERS FASTENING CALK~INS /‘

(SEE SCHEDULE FOR SPACING).

—o.®

FOR SPACING).

LD _OUT IN:

*

SIDE WALK BOLTS ARE 3/4 "axJ/Je"rH/CK

HEAD MACHINE SCREW WALEN
AS PER NOTES A2 & B2 (SHEET 1)

TRUSS HEAD BOLTS ARE 1
HEAD MACHINE SCREW W/L

/2 axi/a"TH/CK
AS PER NOTES A2 & B2 (S‘HEET 1)

—0.®

M
PANEL
(SEE SCHEDULE)

—O.®

FCont,

lax.
LENGTH

1TW/BUILDEX TAPCONS OR-

S @og@z;go} o ITW/BUILDEX TAPCONS,
SIDEWALK BOLT OR @ (@ W/ (D POWERS FASTENING ITW/BUILDEX TAPCONS OR
N v CALK—INSOR ELCO POWERS FASTENING CALK—-INS — £ D
W/ 1/4°8~20TRUSSHEAD BOLT » ! TEXTRON PANELMATE (SEE SCHEDULE FOR SPACING). '
(SEE” SCHEDULE FOR SPAGING). (SEE SCHEDULE FOR [l
ol [ 1 SPACING) \ POURED )
1
. CONCRETE A
! * EEN i [ REQUIRED L¢ _h‘\\
POURED ) l ‘1 :
CONCRETE I I N ‘
)
REQUIRED
\ N | .0 POURED 174020 x 3/4" | |
NS ! CRt:)ENCR \ BOLTS W/ 7/8" Xed I 14820 x 1"
f EQ( ” NUT — ) N
yy | | 0& \ \ 3z @er)g” o.c, 1 I 1 ‘® S‘?/Sé"M' g/;v?/ l
ik X
 ____ SEPARATION WING NUT
Mo, 0 EXISTING [ | 1" Min. 1 | ‘ @ 12° ae. ]
LENGTH GLASS Mox, . SEPARATION _ : I |
(SEE SCHEDULE) | PANEL LENGTH T EXISTING A
) | | (SEE SCHEDULE) 6AsS 1 ' ] PP l
A A fin,
=/ T Vi SEPARATION
: ' | Vo I I 0 EXISTNG [ [
vt NN ] i, e |||
POURED | } L@ POURED - EVERY STUD ™\,
¥ X
CONCRETE / CONCRETE @ 12" 0 0 |
OR CONCRETE ) | OR CONCRETE' g 'p 1/47-20 % 340 '
a/.%:ié JaL E D, l BLOCK WALL BOLTS W7 7/8" x [ l‘—“ ) @
L
FOUIRED / REQUIRED 3732" WING NUT | I
/ I N\ l ] LEGA?#%A%E/ 1.000°| P |
= '-?#j } o 3 l ‘ T T
CALK~INS OR ELCO TEXTRON 1TW/BUILDEX TAPCONS,
PANELMATE @ (3) W/ 1/4°0-20 |/} | PONERS FASTENING :
i CALK—INSOR ELLD. 1.009, l
SIDEWALK-BOLT OR @@ /(0= "/, TEXTRON PARELMATE
W/ 1/4"8~20TRUSSHEAD -BOLT # L (SEE SCHEDULE "\
(SEE’ SCHEDULE FOR-SPACING). [—

POWERS FASTENING CALK—~INS -}

(SEE

SCHEDULE FOR- SFACING). |

NOTE FOR COMBINATION OF SECTIONS :

| WALL/FLODR/CEILING MOUNTING SECTIONS CAN BE 7
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION. §~

E D. = EDGE DISTANCE
(SEE SCHEDULE ON

SHEET ¢ OF 5)

INSTALLATION DETAILS

CEILING & Fi MOUNTING INSTALLATIO
SECTION 5

SCALE: 3/8" =

7::

FLORIDA BUILDING CODE ( Non High Velocity Hurricane Zone)

©201¢ TILTECO, INC.

Cosrsspatdit

CLEAR BERTHA STORM PANEL

/ TLIECO me \

TILLIT TESTING & ENGINEERING COMPANY

B355N.W. J6th, Si., SleJOS VIRGINIA GARDENS, FI,

Phane : (305)
EB-0006719

WALTER A. TILLIT Jr. P.E

FLORIDA tic. # 44167

1=1530 . Fox : (305871 o

DRAWN Byt

(2.25" DEEP) RE/AG.

12/05/11

EASTERN METAL SUPPLY, INC paTe
4268 WEST ROADS DRIVE
WEST PALM BEACH, FL 33407 11-=220
£V, Na DESCRIPTION DATE | Riv. No DESCRISTION DATE DRAWING No
[ oLD-08-147 | 13/05/11] 3

&

SHEET 3 OF 5




CORRESPONDING MAXIMUM PANEL TEN TH "I (FL.) AND

POURED CONCRETE
OR CONCRETE BLOCK I

WALL REQUIRED.
VARIES | @ op @ OR'CI\
) @

CONCRETE ANCHORS ’ I

MAXIUM ASD. | Mox. fAi}IgL) LENGTH ANCHORS SPACNGS _'S" i) ¥ @ 12" g, .
DESIEN - SECTIONS 2, &, & . POURED CONCRETE
PRESSURE 083" CLEAR LEXAN SECTION 4 (ROTTOM TOP/BOTIOM) & SECTION 1 (TOF) OR CONCRETE BLOCK \
RATING (p.sut.) STORM PANEL ¢ 4 Mty (so)ﬂou) & SECTION # (TOF) 1A WALL REQUIRED. N @
2" x 4" x 125"
- s
+28.0, ~28.0 10"-0° 7" 12" 12" caads Hg o8 ~y.500"
Cont, Alurm, ANGLE, Min.
+28.0, -30.0 g9'-8" 7" 12" 12"

4 +30.0, -350 a-11" 7" 12" 12" CAS A Plan 4__..»_::_:} _____
+35.0, —40.0 _. 84" 7 12" 12" A

2" x 4" x .0[;’?"
POURED CONCRETE 3105-H14 O
OR CONCRETE BLOCK 8063-T6 ALLOY

Lont. Alum. ANGLE.

+40.0, -45.0 7-11" 7" 12" 12" WALL REQUIRED. e ‘ @ 24" 0. ¢,
2.500" T W/ JACKNUT

+45.0, ~50.0 7'-6" 7" 12" 12” l M s @ CASE B (Pl )
B CONCRETE ANCHORS -?-300 - ’ & - an
® 12" o, —}17 i,

+30.0, ~55.0 7'_2" 7" 12" 12" \.L \\u\

+85.0, —60.0 —10" " " " .000"
: 6-10 4 12 12 ho007l ALTERNATE LEG LOCATION POURED CONCRETE
OR CONCRETE BLOCK
+60.0, —85.0 &'-7" 7" 12" 12" 2" x 2" x 0.55" 1O WALL REQUIRED,
i : i 2" x 5" x 7?3\15{? E(.’_.‘og,t? Mg‘:.
_ Alum, L. "1.8x" -
+65.0° -70.0 6'-3" 7" 12" 12 080" 3105—H154 SHEET @:’G'D)
N METAL Ajumn. BENT PLATE.
+70.0, -75.0 5'-10"  F 7% . 12" 12*
i ' T - . . X = B.O. DISTANCE
+75.0, —80.0 56" 7" 12 12 \
+80.0, —85.0 5'-2" 7" i 12° 12" CAS C (Pl
+85.0, ~80.0 4'-71" 7" 12" 12"
- 1__on " el » 2” x 3" x AOQJ” 3105 H-14 OR
+80.0, -85.0 ‘-4 4 2 12 8063-T6 ALLOY Cont, Alum, ANGLE
WITH ANCHORS @ 12" O. C. 7 4.
+95.0, ~100.0 4-5" 7 12" 12* 1.000" SCALE: 174" = 1"
1.000"
+100.0, —105.0 4'-2" 7" 12" 12
+108.0, —110.0 4'-0" 7" N 12" 12"
e o ND_CLOSURES DETAI
DR CONCRETE BLOCK w D E T LS
* Min. PANEL LENGTH IS 3'-0" WALL REQUIRED, SCALE: 1/4” 7"
’ ' ANCHORS LEGEND
** MAXIMUM ANCHOR SPACINGS ARE VALID FOR ANCHORS ANCHOR | 4
3 1/2" EDGE DISTANCE. FOR E. D. LESS THAN TYPE SPACING
3 1/2', REDUCE ANCHOR SPACING BY ; CA SE D Plan
MULTIPLYING SPACING SHOWN ON SCHEDULE BY TAPCON/ - .\ : L. A 4
THE FOLLOWING FACTORS. (NOTE : Min. PANELMATES 3.0 wumm,,
ol SIS ey || RN T
/ ¥/ ) SIBLE, CED CALK—IN 2.5 [] l{ “,
SPACING OBTAINED USING FACTOR SHALL NOT ' : o T 7/ S FLORIDA BUILDING CODE ( Non High Velocity Hurricane Zone)
BE LESS THAN MINIMUM SPACING INDICATED FOR @ ° o A s ————— e e r———"
EACH ANCHOR TYPE AT ANCHORS LEGEND. N @ \,QEN;‘;@ P2 ©2011 TLTECO, INC. - CLEAR BERTHA STORM PANEL DRAWN BY:
e - 7 ” » o Wde
FACTOR ’ e - L% (2.25" DEEP) R.E/AL.
R
ACTUAL E. D. TAPCON,/ : s : - \\ 12/05/11
: CALK~IN ; : N ] DATE
PANELMATES . R N ILIECO EASTERN MET f
T > - STATE QF S8 INC. 4268 WEST ROADS DRIVE
: : ., R é-'f:‘ N TILLIT TESTING & ENGINEERING COMPANY WEST PALM BEACH, FL 33407 11-220
2 1/2 71 50 Z:}R Dk % o o %,gg,asmjggg N F;ar'; Coagari-a31 | | DRAWING No
2% .50 - ®tebnne0s?® EB-000671 | d i 7 ¥
¢ WALTER A. TLLIT Jr. P.E. ! ow-vs-147  N12/0e/il] | 3 SHEET 4 OF &
iQNA%, @‘g;eﬁ FLORIDA Lic. # 44167 F " H

’%"ﬁ‘wﬂgﬁﬂﬂg



WOOD HEADER
RA;.:OL’/'IRE D,

AN

=

\

2.000°

1/4"8-20 ELCO mole/female PANELMATE

@ 127 oc. W/t 7/8" Min. PENETRATION.

Min.

1" Min.

| SEPARATION _
TQ EXISTING
GLASS

(SEF NOTES

&> >

—0.®

Maox.
PANEL LENGTH

BELOW)

ALTERNATIVE 1

- \—1/4 #~20 ELCO mals/female PANELMATE
: @ 12” o6, W/ 1 7/8" Min, PENETRATION

i ] ~
24
12 |/ 1 -
4 \ 7L
m \\WOODS‘ =1
A\ \~urE
d! EQUIRED,
% B AT MIDWIDTH DF- PLATE.
4
4
9

NOTES:

NOTE | C

ATION

ON:

WALL MOUNTING SECTIONS CAN BE COMBINED
IN ANY WAY TQ SUIT ANY INSTALLATION,

R e T e e

WOOD HEADER
RfOUIEED.

Z RN

“E—‘-"L’J

1" Min,

. SEPARATION |
TO EXISTING
GLASS

.

1/4"0-20 ELCO male/female
PANELMATE © 6" 0.0 W/
~ 1 7/8" Min. PENETRATION OR
#14 S.S. HEX WASHER
HEAD WOOD SCREWS W/
1 1/2" Min. PENETRATION @ 6" o.c.

7/8" x 3/32" WING
~-NUT @ EVERY STUD @
12" 0. C. STAGGERED
TO PANELMATE,

—0.@

ALTERNATIVE 2

/4020 x 1"
S 5 M S W
778" x 3/32
WING NUT

@ 12° o

1/4"0-20 ELCO male/farmale
PANELMATE ® 6" 0.2 W/

1 7/8" Min. PENETRATION OR

#14 S8 HEX WASHER

HEAD WOOD SCREWS W/

1 1/2" Min. PENETRATION @ 6" a.c.
@ MIDWIDTH OF PLATE.

WOOD HEADER
Rf QUIRED.

A

1 Min.
SEPARATION
TO EXISTING

GLASS

1/4"9-20 x 3/41/

BOLTS W/ 7/8" x
3/32" WING NUT
& 12° sie.

1/4"8--20 ELCC mals/female
PANELMATE @ 6" oe W/
1 7/8" Min. PENETRATION OR
) #1485 HEX WASHER
, ¥ HEAD WOOD SCREWS W/
\ ) 1 1/2" Min. PENETRATION ©® 68

O.®

i

1" Mim
SEPARATION
TO EXISTING

-BLASS

1/4°8-20 x 374"
BOLTS W/ 778" x
3/32" WING NUT
@ 12" 0.2,

|

l‘\,_

BUILD OUT INSTALLATION

ALTERNATIVE 5

1/4"-20 ELCO mole/femule
PANELMATE @ 6° o.c W/

1 7/8" Min. PENETRATION OR

#14 §.5, HEX WASHER

HEAD WOOD SCREWS W/

1 172" Min. FENETRATION @ 6° o.c.
@ MIDWIDTH OF PLATE.

a.c.

#14 x 1 3/4" S.S. HEX WASHER
HEAD WOOD SCREWS W/ 1 1/2" Min.
PENETRATION ® 8" a.c.

T
or(5) ]
b Cant. [ »
1/4%0-20 x 1"/ | —@@
BOLTS W/ 7/8" x |
3/32" WING NUT .
@ 12" o.c. l
|
|
A= o ———
1° Min. l——, PANEL LENGTH
SEPARATION £
SEPARATION ' | (sex nores Besow)
GLASS |
|
} —.
7/4%—20/ x 3/4" L
§E BOLTS W/ 7/8"
—H— 3/32° WING. NUT’\ b
@ 12" a2 ¢ | g
2" x 6!‘ N
DECK efoumm7 Dor(5) e |
(NG FINISH ALLOWED) Cont.

4" x 8" (Min.) EXISTING
WOOD BEAM REQUIRED.
STRUCTURAL ADEQUACY
—OF EXISTING WOOD BEAM
70 BE CERTIFIED BY
REGISTERED ENGINEER
OR ARCHITECT FRIOR

TO SHUTTER INSTALLATION.

#14 x 1 374" 8.5, HEX WASHER

HEAD WOOD SCREWS W/1 1/2" Min.

PENETRATION & 6" o.c.

'A_z, TERNATIVE 6

INSTALLATION DETAILS ON EXISTING WOOD BUILDINGS

1. INSTALLATION-ARE ONLY VALID FOR MAX. AS.D. DESIGN PRESSURE
RATING -AND PANEL'S
LENGTHS AS PER SCHEDULE SHOWN ON SHEETS 4 OF 5.

2. FOR WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE
SOUTHERN PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

9665 »\%Rg
@ 4% \}GENgé “‘:}3%

4” = 7 ”
iz@’f’%

T

g6

FLORIDA BUILDING CODE ( Non High Velocity Hurricane Zone)

¥
“Cosg08s6608

o
T,

©2011 NWLTECO, INC

/ TLlECOw: \

TILLIT TESTING & ENG!NEERING‘ COMPANY

BISSN.W. J6th, St, Ste.308,
Phone :

DENS, Fl. 33186

VIRGINIA
(305]871-1530 . Fox ¢ (.105)371 - 1531

EB—-0006719

WALTER A. TILLIT Jr. P.E
FLORIDA Lic. # 441867

CLEAR BERTHA STORM PANEL DRAWN BY:
(2_25" DEEP) RE/AC.
12/05/11
EASTERN METAL SUPPLY, INC DATE
4268 WEST ROADS DRIVE
WEST PALM BEACH, FL 33407 11-220
RV, Mo DESCRIPTION DATE | REV. No DESCRIFTION DATE DRAWING No
! ao-oeur  PYeal 3 SHEET 5 OF §
2 +




